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Vorgehen

Lexikalische Analyse

Syntaktische Analyse

Ausführung



LISP?

(+ (* 10 4) 2)

10 * 4 + 2 = 42



S-Expressions
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Token

(+ (* 10 4) 3)

begin

end

number

atom
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Token Stream

[:begin]
[:atom, :+]
[:begin]
[:atom, :*]
[:number, 10.0]
[:number, 4.0]
[:end]
[:number, 3.0]
[:end]
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Der Lexer
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Der AST
(Abstract Syntax Tree)

[:+, [:*,10, 4], 2]
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Der AST
(Abstract Syntax Tree)
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Der Parser
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Der AST
(Abstract Syntax Tree)
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Der AST
(Abstract Syntax Tree)
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Der AST
(Abstract Syntax Tree)
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eval & apply Schleife

eval liste rekursiv 
evaluieren & 
apply aufrufen

apply funktion aufrufen



Der Interpreter
 

DEMO


